21.VDT(Visual Display Terminals){&&2

<FHRHNZZEH>

3] ~29 | 30~39 | 40~49 | 50~59 | 60~ | &&E (A)
5 1 84 98 109 44 406
£ 30 38 52 39 8 167
Z2EH (N) 101 122 150 148 52 573

TR 29 R

BREIR

<BH> xkFEF, BRERNMEBEEZD-O. EROBEKIIHT HEEERT,

VD T BEAERK ~29 |30~39 | 40~49 | 50~59 | 60~ |&E (N) | HFFEE (%)
BEERE L 17 20| 14| 12 5 68 5.6
B-FB-EH-ED

IR o 52| 104 120 89| 41 415 34.2
HORN - BECE | 5| 4| 59| 56| 3 220 8.2
B

BEHEIZ 5L

g 6] 17| 30| 29| 19 11 9.2
%”EKK<<KRD 7 7| 29| 29 15 87 7.2
BAFAFNTS -

o 11 71 19| 17 7 61 5.0
Bi - FHEDOEH - L

1z e 4 8| 14| 16 6 48 4.0
BxREGFTWSED

S o m s 8 3 50 1 7 34 2.8
& CEEBNT B 5 71 10 4 1 27 2.2
BA%MmYT 5 6 4 9 5 3 27 2.2
1545F 5% 4 6 3 4 1 18 1.5
K EERELEY

Sl 4 4 2 5 3 18 1.5
BBAEL 5 3 6 1 2 17 1.4
Z 0t 4 8| 2| 18 9 61 5.0
3 175| 240| 351| 296| 150 1212 100. 0




TR 29 R

<%E> *FE(FZ, BEERISEHRBIZD-0. EIROBMIZNIT HZEEERT,

VD T EEER ~29 | 30~30 | 40~49 | 50~59 | 60~ | & (A) | HHEE (%)
BEERE L 3 7 : 0 : 12 1.7
BErBE-Ea T -Eo

o 44 51| 109 58 13 275 38. 2
Emﬁh BHEOE 20 20 42 25 7 114 15.9
HEWs5bEaR

A 8 13 21 16 3 61 8.5
B - FIEDEH - L

o 6 6 12 13 4 41 5.7
%”EZ“<<ﬁ° 6 4 5 10 0 35 4.9
BAFAFATS -

gz 6 8 10 10 : 35 4.9
L SBENT S 3 7 2 6 0 28 3.9
BZREITTWSED

SemIts 6 2 6 7 | 22 3.1
B4%nT 3 4 3 6 2 | 16 2.2
£545%% 2 2 5 2 0 " 1.5
IR AEL 3 2 4 2 0 " 1.5
KL< FIFEELRY 0

b 0 2 2 2 6 0.8
ot 8 8 21 13 2 52 7.2
w3 19| 15| 266| 166 33 719 100.0




TR 29 FJE

<VDTHRER>

<BHE> *bE(E, FFRIFEHFMRED:-O. FIROBHIHT ENEETT,

MELT T ~29 [ 30~39 [ 40~49 [ 50~59 | 60~ |&E (N) | BFEE (%)
HERBEAL 28 50 36 35 18 167 411
HEIEHY 18 18 29 42 18 125 30.8
ES IR IR 18 1 19 19 0 67 16.5
IEHY 5 2 7 7 5 26 6.4
EABRAET 1 0 3 3 2 9 2.2
SEARIER 0 0 0 2 1 3 0.7
BmUWOVEREEKRH Y 1 1 1 0 0 3 0.7
L 0 0 1 1 0 2 0.5
2148 - 0 1 1 0 0 2 0.5
TRBEHY 0 0 1 0 0 1 0.2
R 0 1 0 0 0 1 0.2
10z 7 84 98 109 44 406 100.0
<ZHE> *EEE, FFRIFEHFMREDI-O. FIROBHIHT HENEETT,

NEELE ~29 | 30~39 | 40~49 | 50~59 | 60~ | &if (N) | BFEE (%)
HRBELL 17 24 26 15 4 86 51.5
HEIEHY 8 5 13 17 2 45 26.9
A BRI 3 4 6 4 0 17 10.2
EHY 0 5 3 1 1 10 6.0
EARAET 1 0 1 0 0 2 1.2
REEE 1 0 1 0 0 2 1.2
FREHY 0 0 1 1 0 2 1.2
SEARIER 0 0 0 1 0 1 0.6
BMOEEERSD Y 0 0 0 0 1 1 0.6
E R 0 0 1 0 0 1 0.6
0z 30 38 52 39 7 167 100.0




